spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

-0.1

Mean Spectrum

LI

3000

A@) z

1.89062

RMS Spectrum
BLR 8380 NLR 800 km/s

3000

.'Wl....l..w.

2000
A (R) z = 1.89062

x(\t) =
X*/(410310-5044)=0.918=>1.007

( Data — Model AC5 ) / o x

o
D

~N
Q -
©

o
=)
?

T
o
N k

-2

1500 2000

A&z

bad:414=0.10% 1.89062

u = 0.012(23) x = 0.920(69)
med(qu)

0

—0.05

-0.15

2000
A (R) z = 1.89062

f) (10717 erg em™2s7'87")

BLR

10

bt}
-

1.2

0.9

Continuum Lightcurve

rm059

16258 )

21138 )

med(mad)% c5

100

7500

8000
MJD — 2450000

8500

BLR Lightcurve
rm059

9000

N - N - N -
7500 8000 8500

MJD — 2450000

N -
7000

Corrections
rm059

il
2000

7500 8000 8500

MJD — 2450000

7000

u = 0.0096(79) x = 0.916(19)

rm059

med(mad)

N - N - N -
7500 8000 8500

MJD — 2450000

N -
7000

" I-
9000

9000



